D-Sub connectors - Screw-machined Contacts

FIXED MACHINED
CONTACT CONNECTOR

D-DF

% — S = ==
B ® M ™
\_n ' I SESE AT 3
luiﬁlt

Amphenol

g Specifications = Amphenol’s 17D and -17-DF series
— = Connectors according to MIL C24308 - NFC93425-HES = e contgct D-.Submlma.ture ,
el 2= connector is suitable for industrial
o Materials and Platings &5 ortelecom use.
[ wn
2 Shells Steel tinned with dimples on plug connector - Th hined contact brovid
= | Insulator Glass-filled thermoplastic, UL 94V-0 staii:"tjz;zielf:;l;; provide
S Rear insert Erasz, 3um u.pktol52pm (11tzp";p to 197u")
nned over nickel 2um 0 3um
(I78p.. upvto 1; 8u") Hm up H This series offers the broadest range
Boardlock Tin plating 4um up to 6uym o termlnatpn EpEE i i
(157" up to 236p”) over nickel 2um up to 3um Amphenol fine.
(78p” up to 118p”)
Screwlock Brass, 6um up to 10um (236u" up to 394u")
tinned over nickel 2um up to 3um
(78u" up to 118p")
Contacts D: brass c z
DF: pin = brass
socket = copper alloy . .
Right angle version: full gold plating over 2um to "0& WW
3um nickel
Straight version: full gold plating over 2um up to 7 ' ‘
3um (78p” up to 118y”) nickel
Electrical Data km wie
Current rating 7.5A
Voltage rating 300V AC/rms 50Hz
Withstanding voltage 1000V AC/rms 50Hz for one minute
Insulation resistance ~ 5000MQ 2+ Medical
Contact resistance gF 8.55mé) max E + Industrial
: 5mQ max
=5+ Telecom
Climatic Data E + Any industry standard
Operating temperature D/ DF: -55°C to + 125°C o 110 connections 2
Salt spray 48 hours w
Humidity D: 21 days (40°C - 95% HR) ~
DF: 56 days (40°C - 95% HR) W
Q
Mechanical Data Q
Mating and unmating force
Unit: kg ( Ib)
No. of Cts Mate (max) Unmate (min)
9 (size E) 3.05 (6.74) 0.36 (0.79)
15 (size A) 5.09 (11.24) 0.46 (1.01)
25 (size B) 8.44 (18.66) 0.81 (1.8)
37 (size C) 12.51 (27.65) 1.1 (2.47)
50 (size D) 14.65 (32.38) 1.6 (3.56) <



OVERALL DIMENSIONS

Shell size dimensions

A
150 F —-—

7 = 0.90 B
P " — L
v - - oo

63.10 Nic'h L o ] T
Shell |Contact| A B B’ © D D’ E F & G H
size SPS.rféEet fo.zs 0/:0.20 :0.20/0 f0.10 0/:0.25 :0.25/0 fO.ZO I0.0S/:O.ZO 10.10l:020 :0.10/:0.20 f0.10 :0.10/:0.40 0/:0.50
(+.010) [ (0/-.008) | (+.008/0) | (.004) (0/-.010) | (+.010/0) | (+.008) |(+.002/-.008)|(+.004/-.008)|(+.004/-.008)[ (+.004) |(+.004/-.016)| (0/-.020)
o 16.8 82 10.9 59
307 (661" | 25.0 (323)| 124 (429") (232)] 194 | 110
E g |(1:209)[ 164 (984) [ 80 (488) [ 1.1 6.2 (.764°) | (433")
(646") (315" (437) (:244")
P 25.1 82 10.9 59
39.0 (988") | 333 (323)| 124 (429") (232)] 217 | 11.0
A g |(1:535)] 248 (13117 8.0 (488") [ 111 6.2 (1.0017) (433")
(976)) (315) (437) (:244")
P 3838 82 110 58
529 (1.528")| 47.0 (323)| 124 (433" (228)] 414 | 11.0
B g |(2083)] 385 (1.850")[ 8.0 (488") 111 6.2 (1.630")| (433")
(1513) (315) (437) (.244")
P 553 82 110 58
69.2 (2177)| 635 (323)| 124 (433" (228")| 579 | 11.0
c g |@724)) 49 (2.500)[ 8.0 (488") [ 111 6.2 (2.280")| (433
(2.161) (315) (437) (:244")
P 527 10 10 58
66.8 (2.075")| 61.1 (433)] 152 (433) (228")| 555 | 13.8
D g |(6307] 525 (2.406")[10.9 (598" [ 111 6.2 (2.185')|(.543")
(2.067") (429") (437) (:244")
Panel cutouts
Optimal cutout for rear mounting Standard cutout
A | A |
B . B
oG 10 . ) 10v
;I\( A S p— \-R F
‘I’\ j‘l’ —A—/"’X [—P’ T ‘
D \{ Rd Rading J R/ L. D | "\ Rd Rading J
o o -
Shell [ Mountin A B C D E F G H J
size metho (:%gg) (:Oogg) (fdgg) (fdgg) (ioogg) (fdgg) (fdgg) (:%gg) (fdgg)
22 111 130 6.5 2.1
Front | (g741) | (437) 25.0 125 | (512) | (256" 3.0 15 (.083)
E 205 102 (984) | (492) [ 114 57 (18 | (.059) 34
Rear | (s07) | (402) (449") | (224) (.0134")
305 153 130 65 2.1
Front | (12017 | (602) 333 167 | (512) | (256)) 3.0 15 (.083")
A 288 441 (1.311) | (657) | 114 57 (118") | (059 34
Rear | (1134 | (567) (449") | (224) (.0134")
443 2.1 130 65 2.1
Front | (1744 | (870") 470 25 | (512) | (256" 3.0 15 (.083)
B 025 213 | (1.850°) | (925") [ 114 57 (118") | (059 34
Rear | (1673) | (839) (449") | (224) (.0134")
607 304 130 65 2.1
Front | (2300") | (1.197) | 635 317 | (512) | (256)) 3.0 15 (.083")
c 59.1 205 | (2500) | (1.248) [ 114 57 (118") | (059 34
Rear | 2327) | (1.161) (449) | (224) (0134
583 292 158 79 21
Front | 2295 | (11507 | 611 306 | (622) | (311) 30 15 (.083)
D 56.3 82 | (2406) | (1.205) [ 141 71 (118") | (059 34
Rear | p217) | (1.110) (555") | (.2807) (0134

©
=
@
oL
S
€
<




Termination %
Right angle 2
Ll
MIL Footprint =
(e
-
without bracket: <
2
284 (12) 284(112)
8.1(.319") = 8.1(.319") " B
o1.02 (.040") s 00.6 (024") <
C A4
plastic bracket:
8.1(.319") 8.1(319")
| 284(112) 284112
l } I ‘ } I
r [ l_ [
N — N
o & 01.02 o
o — 9 oS & oo »
Y& (.040") Ve 2 20.6 (.024")
AJ3 AJ4
metal bracket:
8.1(.319") 14.99 (59"
| 2.84(112) | 284(112) jg? | 2.84(.112)
—~ —~ =1 —
J = o2 . w® © ~ Qg
1 T 1N = k —
Iy i _ A [ —
%o &
S || 01.02 (040") S || 00.6 (.024)) || 00.6 (.024))
oy ~ Il Il
Bk 8.1(.319") ©
© o°)
-
w
A AM4: A=13.2mm AM4B ~N
AZ4: A=11.5mm s
Q
Q
=5 _
2 TEHE-E
S I
-g_ 50 contacts: 8.1(.319) [ —
€ | |2.84 112))
< i




TECHNICAL DATA

Termination
European footprint

without bracket:

10.3
(.406")

112
(441"

0.6 (.024")

1AON: X=2.54mm
1BON: X=2.84mm

plastic bracket:
6.2 (.244")
10.3 (.406") 10.3 (.406")
X X
— <~ 15 — 7 ]:.\ ~ 10
i ~ = a ] =
| ]
o~ E.O; ~ g
g 20.6 (.024) ~y 20.6 (.024”)

1AUN: X=2.54mm

1APN: X=2.54mm
1BUN: X=2.84mm

1BPN: X=2.84mm

metal bracket:
6.2 (.244")
10.3 (406"
10.3 (.406”) (:406")
X
X )
5 -B
< © — 2
~B o, _ |
~& 20.6 (.024") R
= 00.6 (.024")

1ATN: X=2.54mm

1AMN: X=2.54mm
1BTN: X=2.84mm

1BMN: X=2.84mm

S8 _
50 contacts: < §
I
10.3 (.406")
X

©
=
@
£
S
€
<




Amphenol

Termination
Solder Cup:
= <
=3
U J
L NI
Wire Wrap:
T\% termination Nb of wraps L
:8. L F179 2 9.6mm (.378")
g F179A 3 13mm (.512”)
© 10.78/0.86
(.0.3177.034")
Straight PCB:
" termination (7] L
x U 0.6mm (.024”) 3.2mm (.126”)
= IJ L E Y, 1.02mm (.040") | 2.4mm (.095")
8 § T 0.6mm (.024") 4mm (.1577)
a o o oL2 0.6mm (.024”) 5.5mm (.217”)
Grounding tabs:
For straight termination For R/A termination
M3 or #4-40 M3 or #4-40 FORPCB 1.6
v
) | —.
[
for holes 032 (126)\ ™~ S| &
for holes @3.2 (.126”) for holes @3.2 (.126”)
RMS5 RM8 RM6

TECHNICAL DATA

D-DF / E18




TECHNICAL DATA

Panel mounting option
For straight and R/A termination

M3 or #4-40
float

| | o

3.6 (141" _ 3.4(.134)

03.1(.122)

22.2 (.086")
Standard rivet 3.1mm Float mounting Threaded rear insert
no digit F H/G
M3 or #4-40
M3 or #4-40

front screwlock
removable screwlock

Fixed front female screwlock Removable female screwlock

VF | VFM VF2 /| VFM2
Recommended PCB Layout
C
F | 2x93,2(.126")
D size E,A,B,C size
bbb
- A S A
_(E_ED_‘_‘#—%‘#_H by I 15 7
| T T 1T T
X X
., 2.74 (.108") for size E,A
0.9(.035°) for U-T-OL2 2.76 (.109") for size B,C,D
and right angle termination
1.30 (.05”) for V termination
For straight PCB: X = 2.84mm (.112")
. _MIL: X = 2.84mm (.112)
Forright angle PCB: European: X = 2.54mm (.100”), 2.84mm in option
size E size A size B size C size D
C%0,1(.004) | 25(984) | 33.3(1.311) | 47(1.85) 63.5(2.5) | 61.1(2.406)
F+0,05 (.002) | 10.96 (.431) | 19.18 (.755) |33.12(1.304) | 49.68 (1.956) | 44.2 (1.74)

©
=
@
oL
S
€
<




©
=
@
£
S
€
<

How to order

RoHS Compliant

0.2um | 77D:  tinned shell for receptacle
(8u") | 717D: tinned shell + dimples
for plug

77DF or 177D: tinned shell for
0.5um receptacle
(20u™) | 717DF or 777D: tinned shell +
dimples for plug

177DF : tinned shell for receptacle
777DF : tinned shell + dimples
for plug

0.76pm
(30p")

shell size: E,A,B,C, D }—

mounting options:
H = rear insert 4-40
G = rear insert M3
F = float mounting

no digit = standard rivet 3.1mm
*H, G must also be used to specify the
threading of RM5 grounding tabs.

configuration: 09,15,25,37, 50

contact type:

P = pin
S = socket

. : Standard options

for specific product

grounding tabs:

RMS5 = for straight PCB mounting*

RMS8 = for straight PCB mounting +
female lock

RM6 = for right angle PCB mounting

VF = front screwlock 4-40

VFM = front screwlock M3

VF2 = removable screwlock 4-40

VFM2 = removable screwlock M3

termination:
-solder cup: no digit

-wire wrap:
F179 = length 9.6mm
F179A = length 13mm

-straight PCB:

U = length 3.2mm, tail 20.6mm

V = length 2.4mm, tail 1.02mm
T = length 4mm, tail 0.6mm
OL2 = length 5.5mm, tail 0.6mm

-right angle connector:

MIL footprint

without bracket: C = tail 1.02mm
A4 = tail 0.6mm

plastic bracket: AJ3 = tail 1.02mm
AJ4 = tail 0.6mm

metal bracket: A = tail 1.02mm
AM4 = A =13.2mm
AZ4 = A =11.5mm
AM4B = footprint
14.99mm (.590")

European footprint
without bracket: 1TAON = X = 2.54mm
1BON = X = 2.84mm
plastic bracket: 1APN = X = 2.54mm
1BPN = X = 2.84mm
1AUN = X = 2.54mm
1BUN = X = 2.84mm
metal bracket: 1AMN = X = 2.54mm
1BMN = X = 2.84mm
1ATN = X = 2.54mm
1BTN = X = 2.84mm

For special request, please consult factory

HOW TO ORDER

D-DF / E18




NOTES

Memo

Do not hesitate to contact us for further information

Amphenol

Amphenol IT & Communication Products
Block A3/A4, The 4th Industrial District of
Industrial Headquarters, Dong Keng Road

Gong Ming Town, Shen Zhen China
Fax:+86(0)755 2754 9955
Technical Support
Tel:+86(0)755 2717 7945
Info-dsub@amphenol.com.cn
http://www.dsubconnector.com

The information given in this document are as a guideline only. We reserve the right to modify our products in any way we deem necessary. Any duplication is prohibited, unless approved in writing.

E13/B




OCEAN CHIPS

OxreaH INeKTPOHMUKM
MocTaBKa 3ﬂeKTp0HHbIX KOMMOHEHTOB

Komnanusa «OkeaH DNEKTPOHMKM> MpEeAaraeT 3aK/Il04EHUE JONTOCPOYHbIX OTHOLLIEHMM NpU
MOCTaBKaX MMMOPTHbIX 3/1EKTPOHHbIX KOMMOHEHTOB HA B3aMMOBbIrOZHbIX YC10BMAX!

Hawwu npeumyliectsa:

- NlocTaBKa OpMrMHaIbHbIX UMMNOPTHbBIX 3/IEKTPOHHbIX KOMMOHEHTOB HanNpAMYy C NPOM3BOACTB AMEPUKM,
EBponbl M A3uK, a TaK e C KpYNHEMLIMX CKIaJ0B MMPa;

- LUnMpoKas sMHeMKa NOCTaBOK aKTUBHBIX M MACCMBHBIX MMMOPTHbBIX 3/1EKTPOHHbIX KOMMOHEHTOB (6onee
30 MJIH. HAMMEHOBAHUMN);

- MocTaBKa C/IOXKHbIX, AeDUUMUTHBIX, IM60 CHATLIX C NPOM3BOACTBA NO3ULMIA;

- OnepaTMBHbIE CPOKM NOCTABKM NOA 3aKa3 (0T 5 paboumx AHEN);

- JKCnpecc JoCTaBKa B 06YH0 TOYKY Poccuu;

- Momouwb KoHcTpyKTOpCKOro OTAena 1 KOHCynbTauumu KBaMPULUUPOBAHHBIX MHXEHEPOB;

- TexHM4ecKaa nogaepkka NpoeKTa, NomMollb B NoA6ope aHanoros, NocTaBka NPOTOTUNOB;

- [locTaBKa 3/1EKTPOHHbIX KOMMOHEHTOB NoJ, KOHTposiem BIT;

- CUcTeMa MeHeaXXMeHTa KayecTBa cepTudmumpoBaHa no MexayHapogHomy ctaHgapTy 1SO 9001;

- Mp1 HEO06XOAMMOCTH BCA NPOAYKLUMA BOEHHOIO M adPOKOCMMYECKOrO Ha3HaYeHMA NPOXoAUT

MCMbITaHMA M CEPTUMhMKALMIO B TaGOPATOPMM (MO COrIACOBAHMIO C 3aKa34YMKOM);
- MocTaBKa cneumanusmMpoBaHHbIX KOMMOHEHTOB BOEHHOMO M a3POKOCMMYECKOr0 YPOBHSA KayecTBa

(Xilinx, Altera, Analog Devices, Intersil, Interpoint, Microsemi, Actel, Aeroflex, Peregrine, VPT, Syfer,
Eurofarad, Texas Instruments, MS Kennedy, Miteq, Cobham, E2V, MA-COM, Hittite, Mini-Circuits,
General Dynamics u gp.);

KomnaHua «OkeaH JNEeKTPOHMKKU» ABNAETCA oduuMabHbIM AUCTPUOLIOTOPOM M SKCKJIHO3MBHbBIM
npesctasuteneM B Poccum ofHOrO M3  KpPYMHEMWMX MPOM3BOAMUTENIEM Pa3beEMOB BOEHHOMO W
A3pPOKOCMMYECKOro Ha3sHavyeHuMs <«JONHON», a Tak Xe oduuMaibHbiIM AUCTPUOBIOTOPOM MU
JKCK/II03MBHbIM nNpeacTaBuTenieM B Poccvn npousBoauTENA BbICOKOTEXHOIOMMYHBIX M HaAEXHbIX
peweHun ans nepeaaym CBY curHano «FORSTAR>.

«JONHON> (ocHosaH B 1970 T.)

PasbeMbl crneumanbHOro, BOEHHOMo M A3POKOCMHNYECKOIo
Ha3Ha4YeHHA:

JONHON (MpuMeHsOTCA B BOEHHOM, aBMALMOHHOM, a3POKOCMMYECKOM,

MOPCKOM, KeNe3HOAOPOXKHOM, TOpHO- M HedTeao6biBatoLLeN
0Tpac/AX NPOMbILLIEHHOCTH)

«FORSTAR> (ocHoBaH B 1998 r.)

BY coegmHmnTENN, KOAKCHaNbHbIE Kabenn

’ ) ®
KabenbHble COOPKM M MMKPOBONIHOBbIE KOMMOHEHTbI: FORS 'AR
L

(MpuMeHsaTCA B TEJIEKOMMYHMKAUMAX  FPaXXAaHCKOro M
cneuManbHOrO HasHayeHus, B cpeacTBax cBA3sM, PJIC, a TaK xe
BOEHHOM,  aBMALUMOHHOM M AdPOKOCMMYECKOM  OTpacisx
NPOMBILLNIEHHOCTH).

TenedoH: 8 (812) 309-75-97 (MHOroKaHasbHbIN)

dakc: 8 (812) 320-03-32

DNIeKTpPOHHas noyTa: ocean@oceanchips.ru

Web: http://oceanchips.ru/

Appec: 198099, r. CaHkT-leTepbypr, yn. KananHuHa, 4. 2, Kopn. 4, amT. A




